QL Series

Built=in suction port on Built=in window on Built=in magnet for high Improved RPP Built=in LM guide
pulley box and rail. pulley box. osculation strength timing belt

on steel cover and

the upper side of rai.

Built in belt and
stainless steel
cover for

dust proof.

Customized
is available

slider



QL 60, 80, 100

Features

® | M Guide & Belt type

® Clean type(Class 100)

® Compact design and high stiffness
® Various axis combination

® High tensile timing belt

® Customized optoin
® Fasy maintenance

.

How to order
1234

GL 60 —600-0100 L — C — D3 E2 -
® © o ©® © 6 O 9

@ Sereis ® Color Bracket of reducer (including coupling)
QL Blank : White(outer) Blank : None
L : White + LM raydent TYPE MODEL
@ Model B : Black (outer) oL SE L @ 1 8 10
60/80/100 BL : Black(outer) + LM raydent B2 | 62 | e |
% LM : Please contact us for customized LM B 2 e e
® Sensor (dog included) ; .
@ Stroke (Unit : mm) Blank : None Basic option : ATG, APLUS, SESAME
50 ~ 3500 C : Photo sensor + Basic socket — Basic 3EA :
% Please contact us for longer stroke than standard CJ : C + Cable socket 2M — Basic 3EA ® Customized code

Other than basic : C(J)(Qty) Example)C2,CJ2
@ Drive version (0:Standard, 1:Coupling type 2:Shaft type)

TYPE JODEL @ Mounting bracket
Pul\eé:ﬂoroecl\on Pulle@ape 6.0 80 120 Blar?k : None ]
1100 TP [e]e]e D(Qty) : Necessary quantity, Example) D2,D3
2000 LE_J:' . . 3
2200 ‘:‘:J:' o | o |0
1200 0F | .

L]
% Please contact us for
customized pulley type

Csensor

Model ltem number | Sensor and connector Model ltem number Remarks
60 60 PDG-QB60-PL
u 80 PDG-QB80-PL EE-SX672 only
80 Sxe72-PL ' ’ 100 PDG-QB100-PL

EE-SX672 + EE1001

100 Mounting bracket

60 Model ltem number Remarks
- SXET2-LPL ' + = 60 MBKB0—-PL

EE-SX672+ EE1006 80 MBKQS0—PL
100 100 MBK100-PL

40 | www.tpcpage.com



. . . T . ®
QL Series Specifications VY2 TPCmotion
QL specifications
Specification QL60 QL80 QL100
Max speed (mm/s) 2000 2000 2000
Payload (kgf) 40 (horizontal) 60 (horizontal) 100 (horizontal)
Stroke (mm) Max. 3500 Max. 3500 Max. 3500
Repeatability (mm) + 0.05 + 0.05 + 0.05
Diameter of pulley (mm) @ 41.38 @ 53.48 @ 68.75
Pulley action perimeter 130 168 216
(mm/rev)
No load torque (Nm) 1.0 14 1.8
Belt RPP5 / W20 RPP8 / W25 RPP8 / W45
LM Guide NO.15 / 1 Rail 2 Block NO.20 / 1 Rail 2 Block NO.30 / 1 Rail 2 Block
Basic weight (kgf) 4.2 11.3 20.5
Weight per 100mm stroke (kgf) 0.55 1.13 16
Motor (W) 200 400 750
Size (mm, W x H) 60 x 80 80 x 105 100 x 130
Note) Customized options such as motor, raydent and LM guide are available,
QL structure
» Component list
No Component name Material No Component name Material
1 Rail Aluminum alloy 7 Slide block Aluminum alloy
Model LM GUIDE
60 No.15 / 1RAIL 2BLOCK .
2 8 Grease nipple
80 No.20 / 1RAIL 2BLOCK
100 No.30 / 1RAIL 2BLOCK
3 Pulley box Aluminum alloy 9 Stopper Urethane
4 Timing pulley High carbon steel 10 Coupling Aluminum alloy
5 Window PC 11 Suction port
6 Timing belt Aluminum alloy 12 Steel cover Stainless steel

TPC mechatronics corp | 41

(=]
D
=
=
=
=
)
E.
=
@
=
=
@

adA] apiny adAy maiog |jeg adfy(apinb Jajj01 yoeIL)}jog

K10ss929y



QL 60

Model Stroke Gear Speed Motor Max. Payload(kg)
(mm) Ratio (mm/s) (W) Horizontal(0.3G) Horizontal(0.5G)
20 330 70 60
QL60 50~3500 10 650 200 50 40
5 1300 15 12
B 2-PT1/8(SUCTION PORT)
T \_.27, @8 AR HOSE FITTING
4% g ‘ 100 ‘ ‘
— 60 9
s T E— [ \ o
i o e
e e _
° —h [l [+ ¢ <+ ¢ |
& I 0 el AR i
| ToJC32C 8-M5 TAP DP10
@ 2-(5 H7 DP8
N R PGX62—H
_ 1 ATG(60)
f o | fﬁw‘
c,g" {5 | MITSUBISHI200W)
i i o i

ST + 388

ST + 260 (RAIL LENGTH)

64

Q|

0|

S=4/1
"A" (M5 NUT SLOT)

S=4/1
'B" (M3 NUT SLOT)

— Please contact us to change sensor or motor options.
— Customized tap or pin pitch on the bottom is available.

| O
|60 "N 2x0-u8 c'8 DP24

Stroke(mm) 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2200 | 2400 | 2600 | 2800 | 3000 | Gear | Motor
Weight(kg) 97 103 | 108 | 114 | 119 | 125 | 130 | 136 | 141 147 | 152 | 163 | 174 | 185 | 196 | 20.7 ratio (W)
330 20
Mé}fﬁn“:’;’se)ed 650 10| 200
1300 5
Note) The weight of motor and reducer is not included.
Saef; Payload o %0
20 40 kg 20 mm 750 mm
20 kg 50 mm | 1000 mm
10 30 kg 15 mm 400 mm
15 kg 40 mm 600 mm
5 12 kg 20 mm 400 mm
Horizontal(X) 6 kg 40 mm 600 mm

| wwwipcpage.com



- . e -]
QL 80 VY2 TPCmotion 2
=
-]
£
s
Basic specifications §
Stroke Gear Speed Motor Max, Payload(kg)
Model : ) ’
(mm) Ratio (mm/s) (W) Horizontal(0.3G) Horizontal(0.5G)
20 420 10 80
QL80 50~3500 10 840 400 70 60
5 1680 25 20

QL80

140

adfy(apinb Jajj01 yoeIL)}jog

70
=X || g ==
—rTF_+ * + 4 T
il = =
- = .
F s 3% e
e T 8-M6 TAP DP10 ST
H-Jcs20 2-(6 H7 DP8

PGX62—H
ATG(60)

HF-KP43
MITSUBISHI(400W)

ST + 500
95 ST + 310 (RAIL LENGTH) 95

40, 250 ‘ ST |20 _
20

I, o M
|
105
116 ‘
adAy maiog |jeg

11]

i40 i 730 140‘
10 ol .
——— S|l 4 B+ 9 &+ & —
e 1 T
D | T | | g8
1 i H
au.;‘ 35 | |
35 f- s o (A —
S=3/1 S=3/1
[A" (M6 NUT SLOT) ['8' (M3 NUT SLOT) L%J 2x4-M8 C'B DP9

— Please contact us to change sensor or motor options.
— Customized tap or pin pitch on the bottom is available.

D
=4
s
Weight & speed for each stroke =
@
Stroke(mm) 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2500 | 3000 | 3500 | 4000 | Gear | Motor
Weight(kg) 226 | 237 | 249 | 260 | 271 | 283 | 294 | 305 | 316 | 328 | 339 | 396 | 452 | 509 | 565 ratio (W)
420 20
Ma(’r; nf;’:)ed 840 0| 400
1680 5
Note) The weight of motor and reducer is not included.
Allowable overhang distance
Gear 0 o
Ratio Payload 0 90

20 80 kg 20 mm 500 mm
40 kg 40 mm | 800 mm cn’?
10 50 kg 20 mm 200 mm §
25 kg 40 mm 500 mm 5

5 20 kg 20 mm 350 mm

Horizontal(X) 10 kg 50 mm 550 mm

TPC mechatronics corp | 43



QL 100

Model Stroke Gear Speed Motor Max. Payload(kg)
(mm) Ratio (mm/s) (W) Horizontal(0.3G) Horizontal(0.5G)
20 540 150 120
QL100 50~3500 10 1080 750 80 70
5 2160 40 35
2-PT3/8(SUCTION PORT)
08 AR HOSE FITTING
= 160
[ 80_ =
T ] o
o JArE = g
'O_ m U‘ q_:‘i 3 4' 4y ¢ (}n u“ = u ‘
o 8 e T=as
<. {H-cs4C ] 8-M8 TAP DP12
< © PGX90-H
= 1] |ata@) ‘ 2-@6 H7 DP8
S l -
ST + 580
110 ST + 360 (RAIL LENGTH) 110
49 300 . ST L 20 98 _al
o | T .y

2x2—PT3/8(SUCTION PORT)

MBK
‘501 760 ‘501
19 < - — — 71
| T 44
4259 5 &a
4HVS:4/1 A—uSTA/W )
"A" (M6 NUT SLOT) | "B" (M3 NUT SLOT)
— Please contact us to change sensor or motor options.
— Customized tap or pin pitch on the bottom is available.
Stroke(mm) | 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2500 | 3000 | 3500 | 4000 | 4500 | 5000 | Gear | Motor
Weight(kg) 36.5 | 381 | 397 | 413 | 429 | 445 | 461 | 477 | 493 | 50.9 | 525 | 60.5 | 685 | 765 | 845 | 925 [ 1005 | ratio (W)
540 20
Ma(>r<r.] i;)se)ed 1080 10 750
2160 5
Note) The weight of motor and reducer is not included.
Gear 0 o
Ratio Payload 0 90
20 120 kg 25 mm 300 mm
60 kg 60 mm 800 mm
10 70 kg 25 mm 300 mm
35 kg 60 mm 600 mm
5 30 kg 25 mm 300 mm
Horizontal(X) 15 kg 60 mm 500 mm

| wwwipcpage.com




QL Series

¥ TPCmotion®

QL PULLEY OPTION

PSH Type

One body type pulley that having driving shaft

PCP Type

This type pulley is joined with Jaw—coupling
directly and supplied with coupling.

© Pulley of QL60

" PSH-S (QB60-18A)

64 ‘
31 xS key ——=
6 0 [©! o
/—';Jﬁ‘ M6 TAP DP1 "._l_@‘ 9_.%
[T Wﬂ/
© ©

f 8
|
|
led

" PSH-C (QBB0-20A)

5x5 key ——=

M6 TAP DP10

7

O

Iy

B2

042

R - E—
‘ 31
£ M6 TAP DP10

65

05 |

"PCP-D (MB60-22A)

64

=

M6 TAP DP10

3

O

=
S
|

o
&
[

TPC mechatronics corp | 45

(=]
D
=
=
=
)
E.
=
@
&
=
=
@

adA] apiny adAy maiog |jeg adfy(apinb Jajj01 yoeIL)}jog

K1085399y



QL series

Pulley of QL80

PSH-S (QL80-18A)

95

PSH-C (QL80-20A)

95

‘ ‘ B veTapopi2. = ‘ N 646 key ;
- SN a——— = oS -
é ‘ ° o i / ® i — @—T: ° o 5
%: ‘ @ B eg 71 I @ & % T @1:3 g 7‘
'l o) | g| il & = .2 f g 9 &
058 g[ 80 45 o058 g[ g 28 ! 80 ‘ 45
PCP-S (QL80-21A) PCP-D (QL80-22A)
95 05
‘ ‘ = M6 TAP DP12 ‘ 2 e TAPDPIZ
A A== = P
/ T e ° * 4 <) <)
§, 5 & T%S g i g 3 T@I:a ei@
; 11 %% | 4 : SRR A
= o ol g = i 0 g g o
o058 2{ = | 28 | 80 ‘ 058 g‘ g | 2 | " 2
Pulley of QL100
PSH-S (QL100-18A) PSH-C (QL100-20A)
40 40
- 50 M8 TAP DP12 66 key g ‘ - 50 | _MBTAPDPI2 sore [
& ‘ o 8 (—‘eao ‘ »& ] ] §
/ %0 ® ® ® -
Fai man RN - Wh-anl
—] . [ ] — . ] ]
e | o) 2 % & ’ /;, K@\/ﬁ% fl g ? & *
066 b ‘ 100 ‘ 45 066 i g 40 ‘ 100 ‘ 45
PCP-S (QL100-21A) PCP-D (QL100-22A)
110 110
‘ 50 M8 TAP DP12 ‘ 50 M8 TAP DP12
a p== ) S p==1
/ & . ® ® P - ® ®
Ere=mian Bl s: - elE s
i é&% ‘8 - 3 @i:a & /,;i &%J% ‘8 - 2 2 &
N
066 3 g &‘ 100 ‘ 066 a g 40 ‘ 100 ‘ 40

46 | wwwipcpage.com




